PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 4:

Logical Thinking / Tw duy l6-gic

QI.[1.15]

Given that the day before yesterday was Saturday, which day of the week will it be
tomorrow?

Biét rang ngdy hoém kia la thir Bay, vdy ngdy mai la thir mdy?

A. Friday (Thu Sau) B. Tuesday (Thu Ba)
C. Monday (Thtr Hai) D. Saturday (Thu Bay)
Solution:

Monday Tuesday Wednesday Thursday Friday  Saturday Sunday

today  tomorrow before  yesterday
yesterday
Key: B
Q2.[1.15]

What is the greatest possible number of Fridays during February?

Trong thang Hai ¢é nhiéu nhat bao nhiéu thir Sau?
A.2 B.3 C.4 D.5
Solution:

1,8, 15,22,29



Key: D

Q3.[1.18]

Tommy needs 5 minutes to cook a bowl of noodles. He can cook at most 2 bowls
of noodles at the same time. At least how many minutes does he need to cook 3
bowls of noodles?

Tommy can 5 phit dé ndu mét bat my. Ban dy cé thé ndu nhiéu nhat 2 bat my ciing

liic. Hoi Tommy can it nhdt bao nhiéu phit @é ndu 3 bat my?
A. 10 B. 8 C. 15 D. 11
Solution:

5+45=10

Key: A

Q4.[1.1.1]

According to the pattern shown below, what is the number in the blank (“?”)?

Duea vao quy ludt dwéi day, tim sé thich hop dién vao dau “?”.

55,45, 36, 28, 21, 15,7

A.8 B.9 C. 10 D. 11
Solution:

55-10=45

45-9=36

36 -8=28

28—7=21

21-6=15



15-5=10
Key: C

Q5.[1.12]

Consider the pattern below. How many © are there in the next group?

Duea vao quy ludt dwdi ddy, héi ¢é bao nhiéu dau ® trong hinh tiép theo?

s>

@ @

@ | DD

A.8 B.9 C. 10 D. 11
Solution:
0+1=1
1+2=3
2+3=5
3+4=7
4+5=9

Key: B



Arithmetic / S6 hoc
Q6.[ 1.IL1]
Find the value of 7+4+5+3+2 + 6 + 8.

Timgidtricua7 +4+5+3+2+6+386.

A.33 B. 34 C.35 D. 36

Solution:
7+4+5+3+2+6+8=(7+3)+@4+6)+(2+8)+5
=10+10+10+5=35

Key: C

Q7.[ LII.1 ]
Find the value of 18 — 9 + 12.

Tim gid tri cua 18 — 9 + 12.

A. 20 B. 21 C. 18 D. 1727
Solution:
18—9+12=(18+12)-9=30-9=21
Key: B

Q8.[ 1.11.2]
Find the value of 7+ 7+ 7+7+7-7-7-7—1.

Timgiatricua7 +7+7+7+7-7-7-7-7.
A.0 B.5 C.6

Solution:



T7+7+7+7+7-7-T7T-T7-T7=0-7+(T-+T-7+(7-7)+T7=17
Key: D

Q9. 1.11.3 ]
What is the number that should be filled in the blank?

Tim s6 thich hop dién vao ché trong.

21+ =41
A. 23 B. 20 C.21 D. 22
Solution:
21 +20=41
Key: B

Q10.[ 1.11.3 ]

What is the value of C if the equation below is correct?

Tim gid tri ciia C dé dwoc phép tinh ding dudi day.

14-C=C
A.9 B. 8 C.7 D.6
Solution:
C+C=14
C=7



Number Theory / Ly thuyét sé
QI11.[ 1.II1.2 ]
Amy has 17 apples and John has 9 apples. How many apples does Amy have to

give to John to make them have the same number of apples?

Amy ¢6 17 qua tdo, John c6 9 qua tdo. Hoi Amy can cho John bao nhiéu qud tdo

dé hai nguwoi cé sé tao bang nhau?
A. 4 B. 8 C.5 D.6
Solution:

17-9=8

Key: A

Q12.[ 1.111.1 ]

Fill the lines with ‘+’ and ‘- to make the equation below correct.

Pién diu “+’va —’ vao ché trong dé dwoc phép tinh ding.

A.2+3+4+8=1 B.2+3+4-8=1
C.2+3-4+8=1 D.2+3-4-8=1
Solution:

2+3+4+8=17

I7-1=16

16=2x8



2+3+4-8=1
Key: B

Q13.[ L.IIL1 ]

Fill the lines with ‘+’ and ‘- to make the equation below correct.
Pién diu *+ ’va ‘— ’vdo ché tréng dé dwoc phép tinh diing.

1 3 6 8 9=11

A 1+3+6+8-9=11 B.1+3+6+8+9=11
C.1+3-6+8+9=11 D.1+3+6-8+9=11
Solution:

1+3+6+8+9=27
27-11=16
16=2x8
1+3+6-8+9=11
Key: D

Q14.[ 1.111.4 ]

How many two-digit numbers having the unit digit 2 are there?
C6 bao nhiéu s6 ¢é hai chit s6 ma chir s6 hang don vi la 2?
A.9 B. 10 C.6 D. 8
Solution:

12,22,32,42,52,62,72, 82,92

Key: A



QI15. [ 1.111.3 ]

Determine 2 + 5 + 8 + 11 + 14 is odd or even.
Hoi2+ 5+ 8+ 11+ 141d 56 1é hay so chan?
A. Even (Chan)

B. Odd (Lé)

C. Neither odd nor even (Khong chan khéng 1é)
D. Both odd and even (Vira chdn vira 1é)
Solution:

5,11:2 odd

Key: A

Geometry / Hinh hoc
Q16.[ 1.IV.1 ]

How many squares are there in the figure below?

Co bao nhiéu hinh vuong trong hinh vé bén duoi?

A. 8 B.9 C. 10

Solution:

8+2=10

D. 11



Key: C

Q17.[ 1.IV2]

At least how many cubes are there in the figure below?

C6 it nhdt bao nhiéu khéi lgp phwong trong hinh dwéi day?
E A |
7]

A.8 B.9 C. 10 D. 11

Solution:
24+3+5=10
Key: C

QI8.[ 1.1V4]

How many sides are there in the polygon below?

Da gidc dudi ddy co bao nhiéu canh?

A. 13 B. 14 C.15 D. 16
Solution:

14 sides



Key: B

Q19.[ 1.IV.3 ]
According to the pattern shown below, what is the figure in the space (“ )

provided?
Duea vao quy ludt dwdi ddy, tim hinh thich hop dé dién vao ché trong (“)?

AOOAADOOAADOO A...

A A B.o C.o D. A
Solution:

The pattern : A O OA

Key: A

Q20.[ 1.1V.3 ]

According to the pattern shown below, what is the figure in the space provided?

Duea vao quy ludt dwdi ddy, tim hinh vé thich hop dé dién vao ché trong.

A @ B.m C. A D. O

Solution:

The pattern : W

Key: D



Combinatorics / T6 hop
Q21.[ 1.V3]

Which number below is the smallest?
S6 ndao duéi ddy la nhé nhat?
20201110, 20112010, 20211020 ., 20101021
A. 20201110 B. 20112010
C. 20211020 D. 20101021
Solution:
20101021
Key: D

Q22.11.V4]
Choose 2 digits, without repetition, from 1, 0, 3 and 9 to form two-digit numbers.

How many different numbers are there?

Chon hai chit s6 khdc nhau tir cdc chiv s6 1, 0, 3 va 9 dé tao thanh sé ¢6 hai chir

s6. Hoi ¢6 thé dwgce bao nhiéu sé khdc nhau nhu vay?
A. 10 B.9 C.8 D.7
Solution:

10, 13, 19, 30, 31, 39, 90, 91, 93

Key: B



Q23.[1.V3]

According to the following numbers, how many even number(s) is / are there?
Trong cdc sé dudi ddy c¢é bao nhiéu sé chan?
1,3,4,7,11, 18, 29, 47
A. 4 B.3 C.2 D.1
Solution:
4,18
Key: C

Q24.[1.V3]
What is the greatest 3-digit number formed by digits 2, 0, 4 and 8? (Each digit

cannot be used more than once).

So6 [on nhat co 3 chir so6 duoc tao boi cdc chir so 2, 0, 4 va 8 la s6 nao? (Moi chir

s6 khéng dwoc dimg qud 1 lan).

A. 284 B. 208 C. 842 D. 840
Solution:

842

Key: C



Q25.[1.V.5]

Mina would like to pick up all apples on the floor. What is the minimum distance
in meter that he needs to travel? The distance between two adjacent apples is 1

meter and he can only go straight, turn left or turn right.

Mina muon lay dworc tdt ca so tdao trén san. Hoi ban dy can di quang dwong ngan
nhat la bao nhiéu mét? Biét rang khoang cdch giita hai quad tao lién ké nhau la 1

mét va ban ay chi co thé di thang, ré trai hoac ré phai.
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A. 15 B. 14 C.17 D. 16
Solution:
15

Key: A



